Al £ 0 & AHE & M A
20149 & 20lat LS 23 ALR It

SN S AR D

BE: MTO5Y MY (LUDIHI/YYLMIARL)
232 Was (&)
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

Ol 3| AL S 1t 1,084,570 886,750 197,820
Ao a FEY (LA /AP HdH2L) 883,000 685, 180 197,820
o3 2F WA 387,500 190,200 197,300
SEH0 93 2 387,500 190,200 197,300
201 L Er2F | 77,800 78,700 A 900
01 At 2tel bl 59,800 50,700 9,100

O=Z 2 od 282z aEUNE &2 400,0003 122 304 At 14,400

O=23 o¥gs 88 2 JIEt 210z 1,000, 000 *24H 2~ 24,000

O EHAAX 2t 20,000& 5005 =13 10,000

O das sg4 MA 600,000& *43| 2,400

O3 J1gs 7¢ 5,000& *1,0004 5,000

Oolsl eHLHAMI HZ 2,000& 2,000 13| 4,000
03 & Ar2 Z dl 18,000 28,000 A 10,000

OZdd ANzdEHE2As sl 5,000,000& =13l 5,000

ONMEZE MZAZE s ZdA 3 3,000,000& %13 3,000

OZd ANZ2sod &M= 10,000,000 10,000
202 O Hl 7,200 7,200 0
03 2 AL R0 I 7,200 7,200 0

O 2220 =83 2F 0l 1,800,000% 2 3,600

OY&EH SR S2=22A0E Kl 1,800,000 »2H 3,600
203 =&l 5,500 5,500 0
03 Al =& A 2= & Y| 5,500 5,500 0

O3 eiAt & oFa&s 2= 5,500,000& 5,500
405 K& S HI 297,000 98,800 198,200




A
X ZH -
=1

el

P
HEoIEN HY(LVTTHI/AHL I )

o
o3 2E LAt

SN B O (3H) - NEAY - BYS ofl A2 &]Eg HZ=2

01 ML =SS FHSHI 292,500 94,300 198,200
O&H &« 22372¢ 292,500
— NS A HAYUSAAY RE(232F, AN 5) 278,000,000& * 14! 278,000
— 3 o4 xR (23 2F, A324) 250,000 *30H4 7,500
— Mg (=25 9 H) 7,000,000 =1CH 7,000

02 EAFHI 4,500 4,500 0
Ooslag 3z 7Y 30,000& 150 4,500

ss&8 dEgs 235 495,500 494,980 520

HI2MOl OJNE =S 482,880 482,360 520

205 2| 3/ | 482,880 482,360 520

01 o/ &de =t 118,800 118,800 0
Oo&#EXs£E, A3 900,000& x9H x12& 97,200
OE X g3 200,000& x9H x12& 21,600

02 &84 166,860 166,860 0
O8&8Y 1,545,000& x9H »12& 166,860

03 2| & =2LH0HI 32,940 32,940 0
oo & MHOILE &4 60,000& *9H 26 14,040
OoOx=E 3o &A 60,000& x9H 20! 10,800
OXHEA XXISHHER 60,0003 »9H x5! 2,700
oo dgs Hz+d 60,000& *9H *103] 5,400

04 2| & =2 o Hl 23,400 22,880 520
O, 2o9&, o9& 2,000,000& x9H 18,000
OXDHZEAHA NIHAF EA 18,000, 000& *30% 5,400

05 9 d2YSSEHI 51,200 51,200 0




Do AR

D HTOEY HE(YUDDHE/L

=== <] OlX—IE
Som —Ao=

o

SH-EH.C(BH) - HRAY - BAS e
Odas 289=* = 4,800,000 9% 43,200
QU aBAEE 2R3 1,000, 000& *8Z 8,000
06 23l 2F P R=&| 71,520 71,520
o9& 2=l 71,520
— o & 2,310,000& *1HE 12 27,720
— 2o 1,150,000 x1HE x12& 13,800
— U EY 750,000& x3E x12& 27,000
— 2 E 750,000& x 1 »43| 3,000
07 A ECHEYMEE S 5,200 5,200
O3 ANZdEHE 4,000,000 *13| 4,000
O3g ANZEEE 100,000& «12& 1,200
08 RAILAZIREE S 12,960 12,960
O 30z 2E3 70,0002 x9Y x 128 7,560
Ooa A 23 50,000& x9F 123 5,400
SEH0 AU 29 12,620 12,620
201 L er2 A | 3,920 3,920
01 At 22| Hl 3,920 3,920
O& U3 =&l 7,000 *8H »70Y 3,920
202 04 4,200 4,200
01 2 WA YI 4,200 4,200
OddedEz g3z =& 20,000& x3F 70 4,200
203 2 REFH| 4,500 4,500
03 AIZF AR F XY 4,500 4,500
OssH2 & 29 1,500, 000& *3Z 4,500




2 M 23 AR
H: HHPA LU (S AR D) (JIEH/DIE)
Ehelr D122l (&)
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
HY 2 ZHI (23 AL D) (DI EF/JIE 201,570 201,570 0
JlEZ 201,570 201,570 0
Jl 23l 201,570 201,570 0
201 22 Y| 161,530 161,530 0
01 At 2teltl 65,520 65,520 0
OFRNBN 1,940,000& x21Z 40,740
O= gl 7,000 x 12 25 2,100
OL=E=AD| EX=E 320,000& *2CH 123 7,680
O & sH| 10,200
— & oA E W= 600,000& x8H x 13| 4,800
— o E NS 600,000 x9H % 13| 5,400
OFAMBHEZEZ 400,000& 128 4,800
02 8523l 96,010 96,010 0
O322= & HAl 25,420
—RER= 100,000& 128 1,200
—&II23 860,000& x12& 10,320
— &3 e= 200,000 x2CH x 123 4,800
—O0l0IHE R= 50,000 x12CH 123 7,200
— XS XAl 900
o= 500,000 *1CH 500
HEE 400,000 = 1CH 400
—NEEE= 500, 000& 2CH 1,000
OdZHl 38,330
— o3| E At HZH| 1,820% *394 *6A| 2tx90 38,330
O XH&h| 19,000




2AM:

O 3| AL 1t

H: HHPA LU (S AR D) (JIEH/DIE)
Ehelr D122l (2 &@
SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

—o&E 10,000

%12 2 (35,000km Ol &) 10,000, 000& = 1CH 10,000

—geE 9,000

- 2 2(30,000km Ol &) 9,000,000 »1CH 9,000

O2os EHOIX RXacldl 605,000& x12& 7,260

OdEI A2l 2,000,000 »14] 2,000

O&F AL Xl 2eltl 4,000,000& =14 4,000
202 O Bl 33,080 33,080 0
01 =W HI 33,080 33,080 0

o&Uotl 120,000 »12H x 12& 17,280

O&2 0yl 75,0003 x 128 +10 9,000

OISR =d0tl 85,000 x2H x40 6,800
203 g2 =&dl 6,960 6,960 0
02 @ItatE R =& Y| 960 960 0

OZ3tatI =8| 80,000& +12¢ 960
04 FN2EHRF=EHI 6,000 6,000 0

OFM2IELRFTH| 6,000

— 2|3 AHS It 250,000& 128 3,000

— 234 250,000& x12& 3,000




